CSC 111 — Mid 2 Answers (Fall 2017)

Question 1. (6 Marks — 0.5 EACH — NO Partial mark)




Question 2. (4 Marks)

A. (2 Marks — 1 Mark each line)

x=2 ,y=4
x=10 ,y=100

B. (2 Marks)

int choice = input.nextInt();

if (choice == 1) {
System.out.println ("one"); 0.5 Mark
System.out.println ("two");

}

else 1if (choice == 2) {
System.out.println ("two"); 0.5 Mark

}

else 1if (choice == 3) {
System.out.println ("three"); 0.5 Mark
System.out.println("Invalid Entry");

}

else 0.5 Mark

System.out.

println ("Invalid Entry");




